—

i

goooon
ooobobb gooood

goooon
ogogoobooogd

HREEN

gobooboooobod
ooooboooooon

gogodno

gbobboogoooobobbooogdbbbiogooooboo
gboooobbbuooobbbooid

goboboodgbobboobobbuooob bobobboodggboobogooboon

gbboboogobobbbooooobbbdaodonn
gobobodgooooboobod
gbobobuooooubbboooboboooooobooo

gbobobooooobboogn



Al| DOOODOOOOO VOOO v,vs,vs,0, 0000

w, = avy — Vo — V3 + 4
wy = —avi + 203 + vs — 14
wy = avy; + buvy — wv3 + 2

O000w,we,ws DODODOOOOOOO WOOOO

(1) 000 b 0000 wy,we,ws 0000000000000
(2) va,0, e WOOODOw,v, 000 WOOOOOODOODO

(3) 0000 f:V—-VOOOOOOOOOOO

flv) = Vg — U3 + U4
flva) = Vg + vy
fluz) = v + 2uv3

f(U4) = bU1 + vy + U3 + Vg

ooo0Oo fW)ycwooOoooood «,b0000000O0O0O0DOOOO0OO fO
wioowiobhooboobooouooboobuoooo

A2 R*OO00D0O0O00OO0OO0DOODOOOODOODObOObDO0

(1) ADODODO0DO0OOMpOD ADODODODDOOODOOwDO ANOOOD AODDDOODOD
w0000 AODDOOOCOOODOOOO0O0OvODwOOOOOODOOODO

() RRO0O00O0 fO

x r+2y—z
flyl =12r—-2y+2z2
z —r+2y+z

o0000o0o0o fOOobOobOoOOO

(3) 00 fO000O00OR 0000 100000«0000f(z) 0000 ||f(x)] 00
000000000000000000000000000000
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(1) 00 f(z), g(x) 0000 [¢,6) 00000000 (e,b) 000000000000 (a,b)

b /
0 ¢(z) £0 0000 000000000oom LY =/ ‘“CDDDD
g(b) —gla)  g'(c
€(¢,b) 000D OO0O0D0D 0000000000 00000000
D0DO0000D0000000000000
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(2) f(z), g(z) 0 = 0000000 «000000000¢(x)£000 —a+0

/

000 g(z) —cc D000 O0O0O0D0OO0DMmMOO mﬁffgzuﬂm<é<m)
T—a gl‘
Oo0oooooooonO  lim MDDDDD (Ooooom

—a+0 g(x)

A4 ooooooooo.

(1) f(z) 0000 [0,b)000000. 000 a,y€fe,b)0000

Y = (@) + 1)
00000000 f(x)OOOOO0D0O0OO f(r)=azx+0, 000000000

goo.

(2) f(z),9(z) D00 ROODOODOO0O000.00000 20000

0000000000 f(z)DOODO0DOOODOODOOOO.
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(F| FOXO0OOOOOOO (¢000)0000 X}
000000000000000
() X000O0O0O MO X00000000000000000000000

(2) fO XOUOODO Hausdorff OO DO OOOOODDD f(X)ODODOODODODOOOOOO

A6| 001000000000000001000000000000000000 0,0
00100000 N(0,0.1)000000000000.000000000000000 X
000000000000000000Z~N(0,1)0000P[Z>1]=0.1587,P[Z > 2] =
0.0228, P[Z > 3] = 0.0013, P[Z > 1.28] = 0.10, P[Z > 1.645] = 0.05, P[Z > 1.96] = 0.025
00000000

() n=10000 XO0OOOOOOOO|X-100/>0300000000000

(2)n=10000 X=100200000000000 0000000900000
0000000000000000 ¢?2000006¢%2=010000

(3) |X—-100 <01 000000009000000000000000000DOO0
ERERE



A7| 000Pascal00000(00D0)000000000O

const MAXLEN = 100;
type string = array[l.MAXLEN] of char;

function palin(var s: string; i, j: integer): boolean;
var p: boolean;
begin
p = ftrue;
while i < j do
begin
p := p and (s[i] = sj]);
i:=1i4+1; j:=j—1
end;
palin := p
end;

(1) palin 000000000 OODOOOOOOO
(2) palin 0000000000 OOOOOOOOOOOOOODOOOOOOOOOO



A8 00 sized O string, tree, cell O OO0 printAtom OO0 00000 DOO0O0OO

O00000000000D000Ostring 0 printAtom 00000000000

cel 0000000 Otag0DO00O0O0O0ODODDO0OOOOODDODDODOOO0OODDODODOO
O000D0Otree000000OOtagO leaf OO0 nul OOO0OOOnode 000000
0000000000000 b0o0o0ob00o0b0oooboDb00o0bO00UnOUtag O null
00000 (empty) D0 O0OO0O0OOOODOO

J0000000 printTree 00000

procedure printTree(t : tree)

0000000 tree 00000 t00000000OODOlsp 000000 (list notation)
gbobobooogoboboodaon

const size = 65535;
type string = ---;
tree = Tcell;
cell = record case tag : (node, leaf, null) of
node: (left, right: tree);
leaf: (pname: string);
null: (pnil: string)
end;
procedure printAtom(s :string); - - -

(O)lisp 000000: A, BOOOOO0O000O0O0O0O0O0O0O0OOO0O0000000
00 (A.B)00000000OO0
Sy,---,5,000t00000000 (S1.(S2.(-+-.(S,.1)---)0000000000
00000t0000000(S---8,)00t00000000(S---S,.t)0000



